Opérations avec deux fractions (A)

Nom: Date: Note:

Calculez chaque résultat.

1 1+6— + =
8 11 B
Denominator Solve
, 6 2 B
19 7 B
Sl
5717
4 1+1— + =
32 -
. 21 _ _ _
5 9 B
6 o oy =
8 9 B
373
2.1
7 2 -
o, 22D =y =
19 T 7 B
104 I B
72 B
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Opérations avec deux fractions (A) Réponses

Nom:

10.

Date:
Calculez chaque résultat.

1+6 B 11+48 59
8 11 88 8 88
6 2 _ 42 38 _ 4
19 7 133 133 = 133
1.2 .- 2
5717 85
1,1 _ 2.3 _ 5
32 6 6 6
41 _ 36 5 _ 31
5 9 45 45 45
1 4 1 9 9
8 ' 9 8 4 32
2.2 _ 4
373 9
2+1 B 4+ S|
7 2 14 14 14
9.5_ 9,7 _ 8
197 1975 — 95
4 1 _ 8 7 _ 1
7 2 14 14 = 14

Note:

MathsLibres.com




